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QUESTION 1

You have activated budget availability control against the overall value for an internal order and entered an overall
budget of 10000.

Actuals of 10000 were posted in the previous year.

You are surprised to realize that a purchase order 1000 was created for this internal order in the current year.
How is that possible?

Note: There are 2 correct answers to this question.

A. The purchase order has NOT generated a budget yet.

B. The purchase order was entered in a different year than the budget.

C. The cost element is exempted from budget availability control.

D. The difference of 1000 is within the tolerance limits defined in the configuration.

Correct Answer: CD

QUESTION 2

To which object do you assign a costing sheet?
A. Valuation variant

B. Transfer control

C. Cost component structure

D. Costing variant

Correct Answer: A

QUESTION 3

You are setting up a direct internal activity allocation in SAP S4/HANA. What is valid receivers for the activity? Note:
There are 3 correct answers to this question.

A. Profit center

B. WBS element
C. Sales order item
D. Internal order

E. General ledger account
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Correct Answer: BCD

QUESTION 4

Which statement best describes the Query Browser for reporting?

A. Itis a desktop browser that integrates with SAP S/4AHANA.

B. It is the frontend used to define reports in Analysis for Office.

C. Itis available as an additional license product in SAP S/4AHANA.

D. Itis a design studio app that comes as standard SAP Fiori content.

Correct Answer: A

QUESTION 5

Which type of Profitability Analysis updates the cost of goods sold at the time of delivery?
A. Periodic-accounting based

B. Both account-based and costing-based

C. Account-based only

D. Costing-based only

Correct Answer: C
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